TRBEHEETFEARRE £FTHICHTIHER ETEHFR
BHY SN EFEOEDE—HMBMLELL, BEITROEBYTT,

SRS HAERAICEHT IR £ETE O

RES EEE R
NEERIETSEADMEREE] SEREIE T FH#5 ) DEEEIE (S TFEADFEIREE] SEREIE T FH#5)
HIREB4A: RREHA: HEIREB 4 RREEHA:
M AEZE) M1 _EizqtE], ro_f#a%t1, M1.15~248% 1, [2.25~34%% ], 3.35~441% ], M AZEE] M1_EITHE], ro_#a%4
M2 RELGEDM oIS, M2 BEXE), 4 45~547% 1, [5.55~64/% 1, [6.65~74%%1, M2 REBGEDM-hoITHEE), 2. 8BXE],
[21.R=E], 123 FDih] [7.75m A L1, TR1_(FF#8)15~34% 1, r21. R%E], 123 ZD1th)]
[R2_(F§#5)35~645% |, TR4_(FE$8)65m% LA L |
R — - R —
T2 sEHSERERAE £FT8—thig GIEZA) AE= A o . . T2 sEHSERERAE £FT8—thig GIEZA) HE= A
BT71—-1F BU,LAEAOEERE, LLACRERE. FR.ZE - 8CBHE - IE FEREE,Fh.FE - BCBE - I OEERTHEN (155 BT71—-1F BU,LAEAOEERE, LLACRERE. FR.ZE - 8CBHE - IE (REEIAEE, A, Y - GO BF - IS IEER|iTEE T (195%
e | i HoFYaZ  [HEEAO i74 Pl | P i H It EEAO oL |
71—1~2 F1 =2
71—5~6 s/l AL
79—1~2
79—7~8
87—1~2 0_# 0_%
87—7~8 _ _ _ | (FA) (= _ _ _ | (A0 &a
95— ~2  EEd MERS - [SEACRT|LIEADE - [FE ") - i - [ - - -  EEd -[MEE S - [SRADRT[L AR - [ -1 - B-ER ) - -
0_¥En 00_2E I F %=L | 8| =I§(S) 13,400 D_FE 2] m)E(s) 0_¥En 00_2E | /%L 2] =Es) 15, 400 0% 4 siE(s)
95—7~8 | Jo_susx 00_£E |AEE 73,834 118248 0_f&%0 00_£E |AEE 75,854 T A
103—1~2 | Jo_k&%x 00_2E =z il EE0Q) 18,870 0 o534 Al =E0) 0_§bEy 00_2E =z il EE0Q) 18,870 2| 0 gemn Al ERQ
103—7~8 0_g2%n 00_=E | _BESE BTrmAEZ(T) y 21,630 3 36~ 448 BTlAER(T) 3 0_g2%n 00_=E | _BESE BT~ (1) v 31,635 0_F4¥m TR A RS T N
0_iE 8 2@  1_HES . 6,838 iR 4_45~54% 0_#ate 2@  1_HES . - 6,939 IR < 0% o
0_ger &3 | BEE | 5 AEADEEVE" BsIOLS-ESUF(C) 810 B_hE~—G4m 0_j&ky nn_s& | BEE | 5 AEADEEVE" BsIOLS-ESUF(C) 2110 L o
0_§2E 00_2E 11_ZF | {t3 31,566 B_B5~— T4 0_fBEn 00_2E 11 _FE|C4t? 31,566 &
0_§REr 00_£E 11_ZF | {t3 B 19,181 TEmLE 0_¥En 00_2E 11_F|Cits B 19,181 0_ges
0_§2 % 00_2E 1_Elcfk:  7FAR F0L9—(E) » 15,548 RI_(EiB)  7FAR JL9—(E) 4 0_¥eEn 00_&E N _ElSfEE  7FAF J0L5—(E) » 15,548 TR FHEAF I0IL45—(E) b
0_§2%k 00_=& 11 _FE | {te p— — 40,898 RZ_(F18)E = 0_fasr 00_=E 11 _F {3 = - 40,844 0_#gEy —
0_kEn 00_2E 11 _FE|C4ts = ~| 5,175 R4_(FH1B)E - 0_kEn 00_2E 11 _FE|C4ts = ~| 5,175 B¢ 0 ok »
0_#RE 00_2E 1 _FE|oft? v mEraTER BOG 0_feHr (AR - 0_fegn 0n_2E 1_ESfEE v - mFATER BOG | AR 534 AR
0_faEy 00_£m@ 12 FHEH, ] 0 fEEr 19,539 1 _15—~24%% [ 0_EEEN 0_fREy _=H 12 EIE7], ] 0 fEEr 19,539 0_Fa A R
0_fBEn 00_2E 12_F&\E, SEE S 3,818 7 05548 <1 15~245g 0_§2E 00_2E 12 I, M1 EES 3,818 0 usy
0_§aEy 1_&E 12 %B7, - EIAES L 3,814 3_35~ 4478 -2 353k 0_§aEy W 2@  12_%S=%, -1 EIHE S L 3,814 TR
e o N FBLE ORI TS . 3 3644 e i N FBLE ORI TS - =i
0_fe & 00_= 12_FBd, SEEERT =il pla e 4,334 4 45~ 5481 4 455t = 0_#eEd 00_2Gl 12_FBL, BRRLE e 3,834 0_#eh
0_#Er 00_2E 12_FE, o mEE 1,722 5_A5-G48 5 BE—BdEE 0_#Er 00_2E 12_FE, o mEE 1,722 B 0_gety
0_FEEN i0_=H 12_FHE4, V21 FS 194 B_B5~—T74m IV B_RE- T 0_fesu 00_£E 12_FHE4, ¥ 21 == 199 | AR
T 0n_2m D RN L1000 5RE 36,027 E el A A7 5L b 0 %%y 00_=z& 2 EEE L[]0 5Rs 36,027 0 &%y
0_fady =S E| 7 R [l 23 E i 10,555 R1_(FHi8)1 -] R RIE 15—~ 3488 0_jer 00_=E = [l 23 E i 10,555 s
0_fe#y 00_£E D EmEE 9,008 R2_(B18): [ R2 (1835~ fde i 0_fe#y 00_%E DK 3,003 ARSI
0_gaEy 1_2E o mEx 30,974 RA_(BIB)E -IR4 (BIBIAGRELLL 0_gaEy 1_eE @ 7 mEx 30,974 0_gaEy
0_¥eEn 00_2@ 9 EEE . _ 11,702 Ly D_feEr _ . 0_¥eEn 00_2E ?_AREEE . _ 11,702 FL< O_2%r _ _
0_#aEn 00_&E DS | ok || FeowL | 3,595 v 115248 | ok || Feomu 0_#aEn 00_gE DS | ok || FeowL | 3,595 SR ok || Feun
0_kEn 00_2E 2 _FEE 39,721 L 2_26~348 0_kEn 00_zE 2 _FEE 39,721 r 0_gas
— —




